2 REHRIREMSE

Erpil 3 A =
B TTEB R DT
2 W
EEES
EMKA
K % B-% [ M-T-S & A B4 ZENE
_ TEL
F PR
[BRAEDHEICHNZHFTTFSLY] -8 IR NAE
[iEm4]
[EX1EFE)
R E A EZE] (REDANA., NEZE)
mE e mmHG | [RiE 7 BE cm| KRE kg
(MR X#RFT R WBC Cr GOT CRELnE=)
RBC BUN GPT HBs—Ag + -
Hb UA ryGTP HCV + -
Ht Na LDH TPHA + -
£ A HBH|PLT K ALP MRSA + -
[LDERMRR] P Cl T-Bil Az + -
ALB GLU REHR HEAE + -
T-Cho HbAlc PR #E 7137 + -
TG CRP pR& M [Z7LIL¥—]
# B H FRmoe’) = fh( )
CEEST RS [BRANESERE D B( )
HE4£EEILE]
£ B H £ A H

WEWEDR =




